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2. (2198 2 =114 1,680 1,680 0
1. &2 n) 1,680 1,680 0
3. (x84 950 950 0
1.4 ¥kEgH 950 950 0
2. AGA =LA 1,300 1,300 0
1. ALY GFA = 1,300 1,300 0
1LI[2]AY - 3G egus 300 300 0
1. 05 H| 300 300 0
2. [=]4aA 90 500 500 0
1. 052G A 500 500 0
3 ZINFANEGA 05 500 500 0
1.9 500 500 0
3.4 3 21,300, 21,300 0
1.A7gaesy 21,300/ 21,300 0
1. z]deH gt 21,300( 21,300 0
1. &2 v 19,810 19,810 0
2. BAAL G 45N 1,490 1,490 0
4.5 9 50,227| 49,565 662
1.5 489 362 500 -138
LI5S 362 500 -138
1.9 9k80) 0 100 -100 | ®-2gmlEe] @ -100,0009#13]= -100,000
2. v FSH 362 400 =38 | AN B 7Y 1 -38,000951F= -38,000
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4. [F 1852 DA LA 4,900 4,900 0
1. g Hk=8H 4,900 4,900 0
2.4 ¥ fA 72,792 69,237 3,555
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1LI[x]FT8aLAATgF 35,191 35,191 0
147185 25,176 25,176 0
2.4 ER 3,000 3,000 0
3T T eT 7,015 7,015 0
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1.7 ZF A2 24491 71 1,340 1,340 0
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k5o 20241 10¥€ 18Y 16A] 34% 04% 19 ABEHAAN WA TYyxeetu




20248HA = M=o AE AN

4. BAALG 100 150 150 0

7.8 A FEE 1,000 1,000 0
1. eju)u] 1,000 1,000 0

1. o u]H] 1,000 1,000 0

INESE LIE] 500 500 0

L.ofnln| 500 500 0

2. [2]FA A 500 500 0

1. o) n] 500 500 0

%39 2024 109 18Y 16A] 348 04% 20 AREAAAEWSH T9xS5



